Roll NO. ceeereeenenes
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B. Com. (Part III) EXAMINATION, 2017
(Compulsory)

Paper Third
MANAGEMENT ACCOUNTING

Time : Three Hours | [ Maximum Marks : 75
[Minimum Pass Marks : 25
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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Define Management Accountancy. How does it differ from

Financial and Cost Accounting ? Discuss the utility of

Management Accountancy in Business Management.
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From the following informations, you are required to prepare
the Balance Sheet of Anmole Ltd. as on 31st March, 2016 :

Current ratio 1.60 : 1, Liquid ratio 1.10 : 1, Stock turnover
6 times, Gross profit ratio 20%, Debt collection period
1.92 months, Fixed assets turnover 1.25 times, Reserves and
surplus to capital 0.25 : 1, Long-term loan to net worth
0.5 : 1, Fixed assets to net worth 1.20 : 1, Sales for the year

T 7,50,000.
FOE—2 .
(UNIT—2) -
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What is fund flow statement ? Give specimen of changes in
the working capital and funds flow statement. '
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fQquur 4
e & /7 5,000
TER | Y 3,00,000
e @7 fama 45,000
3 a1 frfee 1,00,000
4,50,000

faaor 4
Qfeiatell @t praE 2,60,000
A BT HY 40,000
HoIgel U 9 20,000
favrar, R v P 10,000
AR 5,000
G 10,000
TR B TAHTIA 15,000
M o /7 90,000
4,50,000

From the followmg summarized cash book of Marine, Drive
Ltd., prepare a cash flow statement for the year en?ied\.‘ilst _

March, 2016 in accordance with AS- 3:

Particulars 4
To Balance b/d 5,000
To Receipt ﬁ'om customers 3,00,000
To Sale of machinery 45,000
To Issue of shares 1,00,000
| 4,50,000
A-35 P.T.O.
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Particulars | <

, | By Payment to suppliers - f2,60,w0_

By Purchase of machine 40,000

By Wages and salary | 20,000

By Rent, rates and taxes 10,000

By Income Tax 5,000

By Dividends - 10,000

By Repayment of debentures 15,000

- By Balance c/d 90,000
| 4,50,000 |

FIIE—3
(UNIT—3)

3. WMFT AN o @) AGURIT B qAISd | WA ArTd
REA B e, Aegard aur I e |
Explain the concept of marginal costing. Explain

characteristics, assumptions and limitations of marginal
costing.
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(i) A AWM P T 60,000 ¥ FQMT TEN g, fawr wm
gt ?

(iv) @™ ¥ gfg af R T 30,000 T TEd 2

(v) ¥ 90,000 BT AT FHM 2] 3feod [l @t A=

The cost-volume-profit relationship of a company is

described by the equation Y = 2,40,000 + 0.7 x in which x

represents sales revenue and y is the total cost. Find out the

following :

(i) P/V ratio.

(ii) Production Break-even point.

(iii) Company wants to increase profit by ¥ 60,000, what
will be the sales ?

(iv) Increase in profit if sales increase by ¥ 30,000

(v) Sales volume required to produce an income of
< 90,000.

TIR—4
(UNIT—4)
4 Y ARG qored 1 R ? 3Ee M 1 qdan SR |
ARG ¥ U IO Tl § I 16 7
What is zero base budgeting ? Examine is rationale. Why is
it not is use in India ?
gl
(Or)
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A company produces a standard product. The estimated costs
per unit are as follows :

Raw material X 4, Direct labour ¥ 2, Variable overheads T 5.
The semivariable costs are :

Indirect materials ¥ 235, Indirect labour ¥ 156, Maintenance
and repairs I 570.

The variable costs per unit included in semivariable are :

Indirect materials ¥ 0.05, Indirect labour ¥ 0.08,
Maintenance and repairs ¥ 0.10. )

The fixed costs are :

Factory overhead ¥ 2,000; Administrative overhead ¥ 3,000;
Selling and distribution overhead ¥ 2,500.

The above cost are for 70% normal capacity producing
700 units. The selling 'price is T 30 per unit. Prepare flexible
budget for 60%, 80% and 100% normal capacities, with the
help of above.
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(UNIT—S)
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P |

What is material costs variance is standard costing ? Explain
the possible causes for material price variance and material
usage variance.

3rerar
(Or)
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A factory is engaged in producmg a product using two
~ grades of materials A and B mixed in the ratio of 3 : 2. The
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standard price of material A is ¥ 4 per unit and that of BX .
per unit. Normal loss in production is expected at 10%. Due
to shortage of materials it was not possible to use the
standard mix. However, normal loss is still expected be 10%
as formerly. The actual result was as follows :

Material A : 260 units @ T 3.50 per unit.
Material B : 140 units @ ¥ 3.20 per unit.
Actual production 369 units.

Calculate material price variance, material mix variance,
material yield variance and material cost variance and
reconcile standard material cost with actual material cost.

A-2035 11,200
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